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01 Al&H| 20,000 50,000 A 30,000
O ZtAH MElBR B8A3XH 10,000,000& 10,000
O E&® D=2X &A3AXH 10,000,000& 10,000
SAM(EEHA) MEIoIE SAANA(ZE) 1,100,000 300,000 800,000
Fag 550,000
= 550,000
1T AIEHI YL 20| 1,100,000 300,000 800,000
= 550,000
= 550,000
01 Al&H| 1,096,040 297,840 798,200
O SXA(HXH) MEiold SAE
1,096,040,000& 1,096,040
Fag 548,020
= 548,020
03 AlE 201 | 3,960 2,160 1,800
O SAE(ERHN) MEHSIA S AIY 20|
1,100,000, 000 *0 . 36% 3,960
Fag 1,980
= 1,980
SEHY HXA Ul A 20,000 0 20,000
AEH L 200 20,000 0 20,000
01 Al&H| 20,000 0 20,000
O &sd £HAZITR SEEXNY 2 DALY A
Al & A H| 20,000,000 20,000
SAEY SHAUX T SNE THHE U] 175,000 0 175,000
401 Al HI L 204 HI 175,000 0 175,000
1 A& H| 175,000 0 175,000
O SHASTME sSAHE2 el2dd
50,000,000 50,000
O ENETNE XS 2 20,000,000 20,000
O EASTHIHE A B4 5,000,000 5,000
O EDHA A& 100,000,000 100,000
AEYH L EXNY FTHALES B 140,000 0 140,000
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AN EF 2l
Hu: el FHNA M
Sl HEY FHIY AW (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
T AEHZXEUY 140,000 0 140,000
01 A& HI 140,000 0 140,000
O S8 SHSTZBAL(2S) ZHB4
100,000, 000& 100,000
O g8z D2 Mo 2 40,000,000& 40,000
el &z 2,807,676 1,417,680 1,389,996
Jelgdedy 29 2,807,676 1,417,680 1,389,996
BII=ANE 29 2,807,676 1,417,680 1,389,996
101 14 Hl 144,204 71,478 72,726
04 JIZHHZ2XREE S 144,204 71,478 72,726
O M@l os&gy o2yl 141,204
MBHIIE BEX R
63,2403 10 x210 132,804
— JIEt B2 140,000& 5 128 8,400
O sIEESE BN &X AR
100,000& 3 10 3,000
201 £B-2dH| 623,346 622,076 1,270
01 At 22/l 217,276 216,006 1,270
O ger==&Hl 188,256
— =2 =4 200,000& =4 H 800
— EFI=ANE 2P 900,000 900
— JAINF ISP Y 1,080,000 1,080
— HEE ¥ERS SIAN 222
426,000 123 x2J4 & 10,224
~ HEE Xots +HAN 242
175,000 * 133 #4353 204 & 18,200
— MEEZ MHEZE Xots 2L H A
175,000 53 x4 3] 3,500
— EHI=ZANE 2B25+7Y
1,000,000& =43l 4,000
— A2AST UMM HIISHE AL
160, 000& »100E 16,000
— WY RIHSH fAss42
41,600,000& 41,600
— AUNE COISH SHE22
6,000,000& =13l 6,000
~ ZENSEIEI B2 Asaaz
1,600,000& »12& 19,200
— HIIQHEAA 2B (A2AH)
752,000& 128 9,024
— HIIHAEHA =22 (NS F)
202,000& * 1200 & 204 & 4,848
— HIIHAEAA =S (HSZLA)
257,000& 128 3,084
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SN sFB2AD
M 2

a
Helr JgEZdH 2

SA - ZE-B(EN) - NRAY - B S il &t o il
— AY ZFLFZY =2 900,000& x13] 900
— AYAE HAY AYOIEBD HAELED

220,0002 * 122 2,640
~ HEHYE FINTAN 248
21,096,000& 21,096
—- HTMYEH HIBA 448
18,298, 000& 18,298
— AAF FIAMN 42 1,862,0002 1,862
— AT NUB YS0AI 7Y
50,000& »100set 5,000
O fIgn=st| 240
— oz zelel HEW=s 120,000 x1H 120
— HJISJi=2c2 H3us
120,000& *1H 120
O 2g=¢ 5,950
- €AY 50,0003 x1&H+119& 5,950
O m=l 13,830
— HEd 224 IsSHI(EE,3A) 1,400
get= 200,0003 x2H 24 & 800
29 20,0003 x2H 204 & 80
E0td 5t 60,0003 x2H 24 & 240
SxE2359 50,0003 2% »20H & 200
SB35 20,0003 x2H 24 & 80
- A2E 2RI 1= 12,430
Rl 200,000& »18H 3,600
29 20,000& x18H 360
SIZAE X2 50,0003 »x2H 100
ags 150,000& »23| x14H 4,200
2y ot S} 100, 0002 »9H 900
g$E 2359 500,000& x6H 3,000
2 2 30,0002 x9H 270
O =&l 9,000,000& 9,000
02 =224l 406,070 406,070
O 3322 2 MA 163,280
— el MIQB(HEE,3A)
36,000,000& 36,000
- a2F JIes 120,000, 000& 120,000
— 23 dIIe3 1,800,000& 1,800
— A2 Faig S RE=s
85,000 *2CH 23] 340
— a2 FAXE ASIAl 100,000 «20H 200
- 22 FAXE BE= 2,100
HAUDE 400,000 +2H 800
SE2E 600,000& *2CH 1,200
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2A: sZae
M. Jgls
@ Delsddy 29
S HD B (SH) - NRAY - BAS O 4t o8 il
EREE 50,0002 =2CH 100
— HAXZ FIIZALLE 180,0002 <20H 360
— JRSAMH AAANL BANLLSS
150, 000 & *23] 300
— HTHYN EAUE LEHEI 7950008 104 795
— AAF XN 2EE 285,0002 *1CH 285
— AU HIANSH BER
1,100, 000& *1CH 1,100
O d&Hl 35,712
— HEHE SFUH(EE,3X) 2,856,000& 2,856
— MEssE 4920 4SSN
2,856,000& 2,856
— AT REH| 30,000,000 30,000
O A& ZEH |Xl 207,078
— HEMNEH AR Y| 5,350
2| Al (Ea) 3,000 *1,000m x50/100 1,500
JIHA(EZ2232E)
3,500 *2,200m x50/ 100 3,850
— STEHE AERX 6,428
el Al (Ey) 3,000 x330m x50/ 100 495
JIHA(EZ2232E)
3,500 x250m x50/ 100 438
HWess dgxn(od)
3,000 x330m x50/ 100 495
AEIEE 28I X224
1,000, 000& *23] 2,000
Het=I| KX 1,000, 000& *13] 1,000
EgH SX22lHl 2,000,000 2,000
— MEs dg9A4d A 17,400
MEaSESHEAIE X228
600,000& ~12& 7,200
= T HAIE S 224
600,000& ~12& 7,200
s HAE 2=2lb] 3,000,000 3,000
— &KXl A& (R/0)S X 22|l
25,000, 000& 25,000
— HEHR HUHEX(HE,3/8) 26,000
OIER2HEZ 3,000,000& 3,000
AEM O 500,000& 500
=829 4,500,000& 4,500
SHXEX SHAMAHA(EE )
15,000,000& 15,000
& EHA 4= 2] (MCC) 2,000,000 x 1Al 2,000
AEL N2 1,000, 000& 1,000
— A2HE AAEH KA 111,800

- 463 -




AN EF 2l
N JelE
& JgE3de 23 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
HEYEI A2F 0l
4,500,000& *23| 9,000
FAaxg |l 15,000, 000& 15,000
SFSFAl2 4,000,000& *13] 4,000
sZEL M 700,000 23| x68 8,400
SENSSEII| g2
180,000,000& *3/100 5,400
el g X2+ 10,000, 000& 10,000
SINL=EI RS 2,000,000& 2,000
A2%2 E2AL BISE CEDA
5,000,000& =44 20,000
SHEH DH==H 30,000,000& =12l 30,000
A0 HMelw s 5,000,000% =14 5,000
A224E WA =EFST WA
3,000,000% =124 3,000
— 2L ALH KA 5,100
25 2 2HH 1,700,000,000& *0.3% 5,100
— Jemt3a A4 Sl 10,000
NE (S EA X, S0, 28 )X
10,000, 000& 14! 10,000
202 oddl 7,440 7,440 0
01 204l 7,440 7,440 0
O 201l 7,440
P ENCR-ESS
20,0003 «5H x5 123 6,000
— HEE =ZZA 22
60,0003 «2F x 1L« 123 1,440
206 M= Hl 266,686 286,686 220,000
01 =8l 266,686 286,686 A 20,000
O Mg 20 (#E,3A) 24,000,000& 24,000
O =ZdA MHH &I+ 288,000& 288
O Z&ERrelg #¢ 384,000 384
O Hg® &5 A5%4EF 7 5,000,000& 5,000
O A& &5 A=52%4ZF 7Y 7,000,000& 7,000
O ZElHEgd &=+ 457 31,408
— Jrgat 4003 +20kg*210 1,680
— B¢ 355& *50kg x210 3,728
— 3J2dHA(KIISHAH) 10,000& *40L*502] 20,000
— 32lHC(RIISHMAH) 10,0002 *40L*153] 6,000
O digds d&=Hel 4357 31,408
— Jrgat 400 +20kg*210 1,680
— Et 3553 +50kg*210 3,728
— Z2IHA(RIISHMA) 10,0002 *40L*50%] 20,000
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AN 32l
2

2 Jele
ool DRBAME 29 CER-ED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
— 3A2lHC(SIEMAH) 10,000& *x40L*153] 6,000
O &Zsmgd 24+xH2l(R/0) 4225 2¢ 40,644
— JIECIX EH 3,185,000& 3,185
— @eyel 5,000,000 5,000
— o 32,000,000& 32,000
- g 459,000& 459
O slxmegz 24+l (R/0) A28 2¢ 44,542
— JIECIXN ZEH 3,185,000 3,185
— @eyeol 23,000,000& 23,000
— gt H 18,000,000& 18,000
- g 357,000& 357
O 22ANd 245 7Y 46,900
— SHOLH DEE 2TLAANZG 300&*4,000k 1,200
— THAUISEH HAALMG 25,000,000 25,000
- g8 24 6,500,000 6,500
— 24FHAHE 2HE 800,000& 800
— OoIsdNHHE 2LEHE 10,000,000 10,000
— 22 H2H 2,500,000& 2,500
— ol2uaa=X((NX)MAE 3,000& *3004 900
O A22E HWIIEXIAIE A28 2 35,112
— X 110, 000-& =264 4 29,040
— S HOIX 18,000 & *264 4,752
— Hix 5,000& *264 1,320
307 QI2t0| ™ 60,000 60,000 0
05 A2t &= 60,000 60,000 0
O DRSHHE WEBELLTARS
60,000,000 60,000
401 Al HI L 2 0HHI 1,690,000 345,000 1,345,000
01 A& HI 1,690,000 345,000 1,345,000
O 422 B 190,000
— a2 2+ 125,000, 000& 125,000
— S2AEX(2HO0IE)H 60,000,000& 60,000
— BIETHGHR 24801 O 1 X 5,000,000 5,000
O ZEMYIIAMIHEE 2E4LHelAlA(R/0)
4 1,500,000,000& 1,500,000
405 X+HoHF SHI 16,000 25,000 29,000
01 Mt =2 S F SHI 16,000 25,000 A 9,000
O NFUE dssts 58I 7Y
800, 000& 204 E 16,000
s¥yIHY (s 22 81,780 11,040 70,740
gl (stzd e ) 81,780 11,040 70,740
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AN EF 2l
. HE2GFY(F A2 )
¢elr Jl2dd(Z2el) (&)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
23t /e3 ekl 33,780 0 33,780
201 £B-2d| 22,700 0 22,700
01 At 22l 22,700 0 22,700
O ger==&Hl 16,500,000 16,500
O =gt 6,200,000 6,200
202 04l 5,000 0 5,000
01 = LH o4 1l 5,000 0 5,000
O sZdaege= 5,000,000& 5,000
203 R =& 5,580 0 5,580
04 223 5,580 0 5,580
O 2A2gY 465,000& x12& 5,580
405 TtobF S| 500 0 500
01 AL EFFHSHI 500 0 500
O 2Md AR08 235724l 500,000& 500
=2ZH|/83X 13,000 0 13,000
201 LBty 8,000 0 8,000
01 At 2t 2| 8,000 0 8,000
O ger==&Hl ,000,000& 5,000
O =gt ,000,000& 3,000
202 odl 5,000 0 5,000
01 = LH 4 1l 5,000 0 5,000
O #&aXx ,000,000& 5,000
2Z3H/833% 13,000 0 13,000
201 €824y 8,000 0 8,000
01 At 22| 8,000 0 8,000
O ger==&Hl ,000,000& 5,000
O =gt ,000,000& 3,000
202 44l 5,000 0 5,000
01 = LH 4 1l 5,000 0 5,000
O &33 ,000,000& 5,000
|23l /=32 14,000 11,040 2,960
201 €824 9,000 6,000 3,000
01 At 22| 9,000 6,000 3,000
O ger249H| ,000,000& 6,000
O =gt ,000,000& 3,000
202 o4l 5,000 5,040 240
01 = LH Yl 5,000 5,040 A 40
O =H2eg: = ,000,000& 5,000
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AN EF 2l
. HE2GFY(F A2 )
¢elr Jl2dd(Z2el) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Jlgddl/ el s d g 8,000 0 8,000
201 £B-2d| 5,000 0 5,000
01 At 22l 5,000 0 5,000
O ger==&Hl 5,000,000& 5,000
202 o4dl 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
O Deletddy g2=& ol 3,000,000& 3,000
Heas(s@zeln) 50,615 140,071 A 89,456
HEAHHK= 50,615 140,071 A 89,456
HEHH X = 50,615 140,071 A 89,456
701 JIEtSI HSHES 50,615 140,071 A 89,456
01 JIEtSI AN ES 50,615 140,071 A 89,456

O BARXY s+H2Y RN 22l 202

50,615,000& 50,615
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